Lecture 4 FORK 1003 Mathematics

Plan

1 Optimization problems
2 Integration

@ O\?*wi% Tv-e\abp:}

n s
“~
Ex: v fpmin RGN = ma
: (
L)z -2k =4 = o a Sdrern € ¢ AW=o
=2
\
L -|f
\
5
/ 5
( x
A=Z
T = O
e,
x=2 e a qlobal wex t
0N = -2 <o & alkx
L s Concanr /\
= e
XT2 =~ chd\oq.\ T
iy
Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no BI Norwegian Business School

https://www.dr-eriksen.no/teaching/FORK1003/ MSc in Business/Finance



FORK 1003 Mathematics

Lecture 4
S
Ex: max ia LGN = X =B+
4‘(A§=BKZ—B = "(“(\\: éx
-52‘1"'55—0 ‘Q \ Ma~ Tonutx VO
— 5o Cornownie an “,\: R
=\
=T S N )
ecand  drrveal e "‘QD\ .

—_ l

"(|(>«\ AR

e

E>< . WAae X /w\\v\

—

Ty,

(\\ E‘\‘\‘r&ng\fc.\u( T
\.Q £ TV Caanxt. -Q\«
dn a eclosh) wawmded
{ndmal , e £ wan

a %(u\ock Weaxx e heia.

W R Wwaad AN )

(2.) Wt X=a
Mo~ ecVqes
:) x=a & o Shalwcaory ?'\ s
\‘\) €} dees nok  exash
'(\'\) N=a S a ‘scuaderyy o

L = xe

4“(—\3 = ~G <o =0 x=\ \eccd wex

-‘“L\'\: G >0

=1 flotaeh wavn

w e

EVT =0 Hoe 1o e fnin
- -~
LU= ve T exre (=)

- it
= C ~X=e

-

‘ P—
""("\\:Q', < = O
<

©e- 2,37

~{
fny= e =
L3
4(-23:-—2'€3 N
f(xy= >t = ¢

2
a."\‘ x=="

\-x
¥ X FM\"\ i - '2 <
: —
‘G‘( ‘CMA.X'; \/e q—\- > =\
) e Rt )
——
Eivind Eriksen, Office B4-032, eivind.eriksentibhi.no BI Norwegian Business School
MSc in Business/Finance

https://wuw.dr-eriksen.no/teaching/FORK1003/



Lecture 4 FORK 1003 Mathematics

Ex: foa- gm0 v Talin) 6 xg |

— 0.6 Lalles) + 0.4 k-3

3 i Nl
T i s e

)

£16

|

< (1-») RS (e
QeXlny (=) (exd

el =Y (lxx) - €
Qe (1> .

yoa o2t ESX
S (DU~ 2 = S () (1=x)

\~Sx=0 S-\&-\Lot\o"v} ey
<= MY K*-' \“g:(_‘).'l_
—
Cia D,Q_\

-
x
n
2\

]
ik
—
|

\ \
\ -1
(:f:kx = LLL(*\

— }- (_ ' - .-7: —_— = a-\-u(&\-?'\*\(")
- < CraaN® < Nl Ny B X
w )
= T aaat
= - = : = \ > <O
T Qexh- T G-
Ler all x
Al

" \"& s\ﬂnnk
N\ :

Eivind Eriksen. Office B4-032, eivind.eriksen@bi.no BI Norwegian Business School
https://www.dr-eriksen.no/teaching/FORK1003/ MSc in Business/Finance




Lecture 4 FORK 1003 Mathematics

@ \V\\V&ﬂbr&.-\w n

M" LQJr &(A\ \oe ) Q’“"‘-d'&;-\
qb\V\ &\\M:\AXQL dk "Q(x\ A\
o fuadon T suwon vad T =LK

e —Q(K\= 2 x EGD = 2 S e Gawdrvakire

—

v(x'3=7:2*\ LR

FOo=x+C s W yoerd

a~dltvao
\“aﬁ,s«-lr\‘\i( \f\-\-téﬂ-l.b’.
e
[ feadx = Feae (2 =ec
T .
'\r\k‘ﬁw—‘\\‘cr\ \ '\(\\vcér‘éu&w
S“’;v«\aa\ VercaeRll TS X

N R\r\ we Qre
S'\.»Qfa},(d )"O

AN
) T N U VY Q,.\

\V\-\-( c.ove.\u'oﬂ fulon:

\ N4\
“ — -
'\) Veures rule S X dAx = el X -+ Q \“*’ \\
W \ _ “~C_
x Ax = Jan x|
) Xu\—tv AX T S"‘d"‘: (vax \M‘AY(‘
_ C.: ConSk
S c-wdhx = C ‘ whx /
W) e ax = e+« C
Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no - BI Norwegian Business School
https://www.dr-eriksen.no/teaching/FORK1003/

MSc in Business/Finance



Lecture 4 FORK 1003 Mathematics

i 5/“—;;;35_:&/
LY,
= Vo< di AN T dx = -sh_x +

oS
~ ~2 Vo v _—\
= [ K7 -T2 o X - S e
= \ \
-——Z:L -k-‘;-kg
ke e S
% < A
A S\r\x x
SR T ey

l\’eeo\ Yo \<fno~£:
V) \nkeqration Voy fordy
’(\) Sueatlen

W Perbial raclene

BI Norwegian Business School
MSc in Business/Finance

Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no
https://www.dr-eriksen.no/teaching/FORK1003/



Lecture 4

FORK 1003 Mathematics
N b x , X70
I Rox= L = A s, xeo
‘TM""\ g ub"Jw\x,A>o
L

N\ \\

LM(~\\ = ~>< ) =X

(&) \nhegeten ‘= pois (o

M

\ \ "
~ =
. \x:. AX =
— g—

<
\A:&z/z Vz <&

o = % viz e o g\,w‘o\)k
< 2 \
> > >

= S & - (f_ < AxX \ \\Av‘d\x
\\,\\/ok)(”"’\v
x

| xetax=

& = PR v= X

V=
W= e vi= |\

= ¢ ‘X — QQ'(‘\O\K
~ <
= X< ~ YQ. A

e™ « C_

"_______—.——'_-—-;

Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no
https://www.dr-eriksen.no/teaching/FORK1003/

BI Norwegian Business School
MSc in Business/Finance



Lecture 4 FORK 1003 Mathematics

\: \nx Ax

n
—
3
>
Q-
Pa
il
—

= = Jea W=V C
g—:d-u::-—\‘-,‘v\\\"\*L //—PJ

S;«\L\_'L«To\x; | K %//Mz\ll‘r\“m

w= e\
O = Lx AKX
ka':é.lxd“‘
\ ]
S \ = A0 {ra v
= 320 = awlar e T A
—

Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no BI Norwegian Business School
https://www.dr-eriksen.no/teaching/FORK1003/ MSc in Business/Finance



Lecture 4 FORK 1003 Mathematics

w2k

= 2 (dx — b DR
— Lx2IR - 2h SEER R

= 2dx -~ D—b‘\(\*&

Af) '{S/, A\{B CCV\S\":\&
/H‘—L = Tox T o\sx aA-B=o Aw=0
L~ A4B= & 2A=9
A=<
l»——x’l: U”Q(\—WQ '[\ Q= e
q A LB -0 H = Al+w) T R3-)
— — ==
Tont  bx vex G = A+Ax~D -Bx
= (A+R) + (A-B)x

L‘L

Eivind Eriksen, Office B4-032, eivind.eriksen@bi.no BI Norwegian Business School
https://www.dr-eriksen.no/teaching/FORK1003/ MSc in Business/Finance




Lecture 4 FORK 1003 Mathematics

| ~% [~

| oax = § B 3 de = 22t b
e Bl 2 Al €
2l X C

: 2 3 L . *
S Z < = g O \ Tox X (<
o W=\=-x S
\du».&:"\'*x dun = |- &x
S 2y ol « C = 2. b \\«C = 2 AM\HX\"'

_2 /LM\\-—X\‘*'Q

—

- J
(Ve e LI
= L M o

— A&
= : | -1~ = ax = —x k| T
> —_\ ki
. — — \— A

T ‘ aa \e, - R
PO\ﬁﬂov:\a.\ LS WIR L Whan 80y womesarer e
>/ d\hj d\Q\f\dv\'\'\z\é\Or

T k-—x’"*\\ = —\

w
~ \
\ \~xZ

Eivind Eriksen, Office B4-032. eivind.eriksen@bi.no BI Norwegian Business School
https://www.dr-eriksen.no/teaching/FORK1003/ MSc in Business/Finance



